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Answer the Questions from any one Option.

 OPTION-A -
( Macroeconomics) |
Paper : COM-HG-2016
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' Paper : COM-HG-2026
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Time : Three hours

The ﬂgufes in the 'margih indicate
Sfull marks for the questions.

Answer -either in 'English or in Assarﬁeée.
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OPTION-A
( Macroeconomics )
Paper : COM-HG-2016.

Answer the following questions as directed :

1x10=10

woro Al SRR Mol TeT fra g

(@)

(b)

(c)

(d)

What is comparative static economic

. analysis ?

e iR e R & g

Define effective demand.

HAfer vifeis kel |

What is meant by aggregate supply ?

A @ISl e & e ¢

Name the author of the book, The
General Theory of Employment, Interest
and Money. -

The General Theory of Employment,
Interest and Money i]”z'aliﬁ (STHFGreS [
ol
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(e)

(g)

(h)

t)

0)

What is the shape of long-run aggregate
supply curve ?

ﬁ%ﬁﬂﬁkqwmﬁaa'awma Gﬂmiﬁmﬁ;'ﬁﬂﬂ§m
Q{I‘?

What does a vertical IS curve mean ?

AT 7Y IS @2IR 7 3@ 2

State the' condition of equ111br1um in
the goods market.

T @RI SO 56 Sl w5 |

What is the most common inethod of

measuring inflation ?

TS (ol wibRstes Sttt sty B -

The value of money and the price level

are related inversely/ directly.
(Choose the correct answer)

wwmﬁwmmﬁﬁ‘ﬁ/
niz ol (o7 Bewh 1% Srem)

What is meant by marginal propenSIty
to consume ?

Wﬁﬁﬁﬁﬁ{%ﬁﬁsﬂ-@q?
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2. - Answer the folléwing questions:  2x5=10
were Al epTRs Ted Al ¢

(a) Wh& does the aggregate demand curve
slope downward ?

Ffas sifz @eE T Wl =1 2

(b) State two limitations of the IS-LM

- model. _
IS-LM ST ol el S 9 |
(c) What is social cost of inflation ?

JarReT AR T T R 2

(d) Distinguish between fixed exchange rate

and flexible exchange rate.

ANy oyl

(e) Distinguish between induced investment

‘and autonomous investment.

o R e e REGEIR Tom sk
forar | :
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3. ‘ Answer any four of the following questions :

e 5x4=20
wore WAl epiTRs e bifabi bes a8
(aq) Explain the ‘national income identity

using circular flow of income in a three-
sector economy.

fSfRb-1eE wFIToe SITE b id 2[R T2
R FFR I T R0 A | '

(b) How is the LM curve affected by the
change in the supply.of money?
Explain with a diagram.

IO @5 SAfRS| 7 LM @Riee &
geiife 2 ¢ haw e g w11

(c) What is marginal efficiency of capital ?
State the determinants of marginal
efficiency of capital. ;
TgeR efifes Ifmrel & ¢y i
FrRrForR FdeTg T |

(d) Explain the trade-off between inflation
and unemployment.

TAFG (1S NI FReRIE SIS A5 7o
&4 | :
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() Explain the cost-push theory of r . - Wﬁ-{m 31'% i iﬁm SEICRRIEIRSINS

inflation. e | 7o T (EWE dOlRS T, IS-LM RIfaw
Tl GRS TERRS gt 0T RS S <1 |
() Briefly explain the arguments in favour | (b) Explain the nature of demand-pull
of flexible exehont TS tem : | inflation. What measures would you
.?TS"%T R 2 TR T A TR i suggest to control such inflation ?
SR | , i '
s o il B | | 5+5=10
4. Answer the following questions: . 10x4=40 | : SIRTERS. U ot T | @3
weTe frdl e Ted fras RIS frEeR A o B 39 SRR 2
(@) Discuss the determination of | Or/ T2 '

equilibrium rate of interest and level of

income with the help of IS-LM curve Discuss the effects of inflation on

analysis. ' ' [ . production and distribution. 5+5=10
IS-LM GRI R 72Rs SR I 2 TERIfes Beoiwa oI Reaom evqe o=
I SRRy SRS FEEe S 11 ' 74
. SORPTE SIS 1 |
Or/ 593!

Discuss how income and the interest (c) Explain Mundell-Fleming model with

rate are affected by an increase in flexible exchange rates.

_goyernment. spending and an increase y ﬁﬂﬁﬁﬂﬂﬂ@mwa-@ﬁi ﬁrﬂtﬁﬁiﬂﬁ
in taxes, using the IS-LM curve model. | = ;
- 5+5=10 =
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@)

7 VOr./IWW

Discuss the derivation of the IS curve-

from the goods market in an open
economy with suitable diagram.

i@ wailfew 74 TGHY 1S (FHIGre (P
wizael < 2 R Sl

What is meant by investment function ?
Discuss the factors which affect the
level of investment. 2+8=10
fAfcs e e @ g ¢ R 25
eiofd (Pl SAMEFTZ SCEbl 1)

Or/ @<

Explain Keynesian theory of demand
for money. Write how it is superior to

the traditional quantity theory of
money. 7+3=10

(R SRR Jwid GifEw OE! T |
SIS T AR TgelT 3 (I TSTB
Tl | '
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'OPTION-B

(Insurance and Risk Management)

Paper : COM-HG-2026

1. Choose the most appropriate answer for the

following questions :

1x10=10

WW@W@WWWW@TS

(@) Which-.of the following is not an

(b)

4 (Sem-2/CBCS) HG 1/2 (MAE/IRM)/G 9

objective of loss control?
RIS @O0 o e SU) =

(i) Loss prevention

=e AfeE

(i) Loss reduction

o g
(iii) Loss retention
o 4
(iv) None of the above
| @oRR <ts T

Which of the following is an example of

~ systematic risk ?

' W@Wmﬁ%wﬁmmwm

(i) Inflationary risk
Ptk CEECR SIS
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(c)

()

(ii) Interest rate risk

FeR T FOHCP

(iii) Foreign exchange risk

R R s

(iv) All of the above
@9 SIBRCPLD!

Tofal number of wholetime difectors in
“IRDAI is

IRDAI © 2j¢fFleTial F12efeias K2l

(i) 4 (8TH) .

(@) 5 (& &)

(iii) 7 (2 &)

(iv) 10 (S0 &)
IRDAI was established in the year
IRDAI (i 5T® ol <1 (et 2
() 1995 (Ssne 579) ‘
(ii) 1999 (555 H9)
(iii) 2000 (2000 HA9)
(iv) 2001 (003 B®)

4 (Sem-2/CBCS) HG 1/2 (MAE/IRM)/G 10

1

(e) Which of the following entities are
- regulated by IRDAI? :

fige (@NER @SR IRDAIT ol FaEe

77 ?
. (i) General insurance companies
e T IR
(i) Re-insurance companies
SR Il
(iii) Insurance intermediaries
AP
~ (iv) All of the above
GO IGIA0!

() Accepting two or more insurance in
respect of the same subject matter and
from the same insurer is called

TR TN RIS 71 o] KA 67e
7% A weolfts T ol IRCT O 1 1 R
= ? f
() re-insurance

st

(ii) double insurance

[&SaE
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(i) Co-insurance -

' (w) None cf the above

(89T I8 T

The main function of actuary is
-management of risk’ and uncertamly
The statement 1s

wﬁmmwﬁmvﬁvﬁmww
o4 I | TEHr
i) True (%)

| (i) False. (51%9%)

)

“Life insurance contract is a contract

of indemnity.” The statement is .
“S o IRy B 5 17 I
(i) True (tava)

(i) False (J19%)

“Rire insurance is a contract of
uberrimae fidei.” The statement is -

“SfRR <5 S TERAPR B I D!
() True (¥=). : O

(i) False (I5%)
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0

“Hull insurance .is the main subject

_matter of life insurance contract » ’I‘he

statement is

'(z) True (@‘ﬁ) .

Give brief answer to the folio‘wing questions :
. o o 2x5=10
woTe Rl eI B e &
(a) Ekplain thc concept of risk.
- R R T
(b) State any two. dlfferences between fire
' insurance and _manne insurance.
SR e GRS A
R AR ] | |
(c) State two objectives of re-insurance.
- oplR SR Bt
(d) What is meant by insurable interest ?
ety Al I @ ¢
(e) State two advantages of insurance. ‘
S 7 R T =
4 (Sem-2/CBCS) HG 1/2 (MAE/IRM)/G 13 E o " Contd.
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3. Answer any four questions from the

following in about 150 words each :
5x4=20

fooge Ted i 8

ﬂ (a) Explaln the concepts of systematlc and
| ‘ unsystematic risk. with suitable

examples.

oge TAIEPTR IR O el
o< AT SSRCOH! |

(b) State the differences between co-
insurance and re-insurance.

T O AR ANLRIEE TR

(¢ Write a short note on insurance
ombudsman.

'%ﬁm—mﬁrﬂaemaﬁwmﬁw
(d) Explain the main features of life
insurance.

G FWR e @R I

(e) Write a detailed note on different types
of motor vehicle insurance policies.

- TR Il |
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e Rl BT A TSI &I SEoB! T W

() What are the conditions of indemnity
under a contract of insurance ? Explain. -

B Sy S FeoEeR SRR I |

4. . Answer any four of the following questions '
in about 600 words each: - 10x4=40

| ﬁﬂ%ﬁ—mﬁmwﬁmmm@oo
T ¥ foete Ted ol e

(a) What is meant by risk management?
Elaborately discuss the risk
management process. 2+8=10

HoaR AR I T @ 2w
EpENE iR ITEne S F[ 1

17 (h) Explaigin detail the essentials of a valid

_insurance contract.

R et 1| R SR AR TR
e =15 ‘

(c) What are different types of insurance ?
Write a detailed note on (i) fire and
(ii) marine insurance. 4+(3+3)=10

. ffen oo T B e (i) SR S, o
(ii) CTAWE @ @bl g ol ol
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(d)

© ‘insurance. sector in India.

e

| (9)

-

Discuss the regulatory framework of

WWWMWW;

Explain the impact of globalisation on-
~ Indian insurance sector. -

-WW?\%W (SIFTSRFER o)

[t AN

Discuss the steps taken by IRDAI for
protecting the interest of policy holders.
10

e e A SRS TR IRDAICH

.MWWWWWI

What is meant by measurement of
risk ? Explain in detail about different

methods used for measui'bment of risk.

| | | . .2+8=10 .
’ﬁf%*i@iﬁ' mﬂaﬁq'{%mﬁs%:mw_
R e IR R

()
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Discuss the importance of insurance

in our day-to-day life.

WWWW@WWW|



